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Test ldentification
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42 Test Case Specification

m Input Specification Output Specification

NPS.STC.000.000

NPS.STC.000.001

NPS.STC.001.000

NPS.STC.002.000

NPS.STC.002.001

NPS.STC.003.000

NPS.STC.003.000

TN ‘jamessdfefwefwefwefwe’
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m Input Specification Output Specification

23 100 7t X L3 T 2900. &8

NPS.STC.004.000 YIE 1002tE ST 2F. o 32 2800 AlZF: 10
NPS.STC.004.001 Y3 E 1002t ST 2F. oM L322 3000. A3 EQI2F2 10THR[0{OF THL|Ct.
N o|3_1 57,'6,'_1X 0'3_Et21,_+__8
NPS.STC.004.002 YIE 102 ST F. X 22 2900 c= 103 UP}HOOPQC’ 210
NPS.STC.004.003 A3 E 108t S 84, U3 F Y2 0L Ct BEOFOF Lt
NPS.STC.004.004 YdIE 2102 5T o,
Z2E FX|
CIzf 2= ot =3,
A3 ALEE 1 138
SO0| AHEE 1
28 AlZh:1
NPS.STC.005.000 userB user.txt 1 page & & HE push 28 X3 : userB

Ol ¥3gk: 1232

Ql3 ZtEF - 1094

O|d Z0| T : 86

oix Z0| THEk: 85
SHO| =3. 2015-11-23 18.7.42.txt =

NPS.STC.003.000 FO0|E210HE ST 2. AX| 50| 22 100%. 2|0 Zo|&s =i L L,




Input Specification Output Specification

ZEE =X,
Olaff 2t E Sl H =&,
A3 AtEEF: 271
ZO| AFEZF:2

29 A7
userB user.txt 2 page 3= HE p X XY :userB
NPS.STC.005.001 o ol ot
ush O] YA 2F: 3000

A3 THEF: 2729
0|7 &0| ZH&f : 100
SAx) BO| THE: 98

3tHO| =2, 2015-11-23
18.14.28.txt =
ZEE =X,
QM 2 3tH =,
A3 ALEEF 404
=0 AR 12

29 AZt:3
userB user.txt 3 page 3= HHE p 28 FXF :userB
NPS.STC.005.002 o ol ot
ush O|™ ¥k 2059

U3 EHEk 1655
0| ZO| ThEf . 93
X ZO| THE: 90

3}HO| =3, 2015-11-23
18.28.7.txt = =
ZElE =X,

Qlaff 2t= ot H =3,

A3 AHBEF 537

ZO|ALERH : 4

29 AZt:a
userB user.txt 4 page 3= HHE p X FXYF :userB
NPS.STC.005.003 4 ol = ot
ush O|™ Y32k 1655

43 FHEF 1118
O|™ Z0| Tt : 90
SAX ZO| Tt : 86

3}HO| =3, 2015-11-23
18.32.12.txt =




Input Specification Output Specification

2E X
QM 2t =2 ol H =3,
AI AEZH 671
SOl A& 5

28 AZt:s
userB user.txt 5 page = HHE p 28 FXNY : userd
NPS.STC.005.004 ~ o1 o
ush O™ Y32 :1118

U3 ek 447
O|™ Z0| Tt : 86
XY 30| ThEF .81
2O £3.2015-11-23
18.35.6.txt = =
Z2E FX|,
QI A2 3tH =,
A3 AHE ;804
SOl ALE & 16

29 A|Zt:6
B Xt 6 =ZFE HE ™ QKX H : userB
NPS.STC.005.005 st e S S ~ Ol = aF
ush O|™ A3 2F: 2000

U3 THEF 1196
O| ™ &O| £t2F: 81
SAX ZO| THEk: 75

3}HO| £3.2015-11-23
18.36.54.txt =
QM 2 3tH =,
A AHB 834
TNy
A28 AIZh:7
SF XY :userB
NPS.STC.006.000 userB user.txt 212 2t=2 O|™ Y33 :119

A3 THEF 312
0| Z0| Ztef: 75
SAX} ZO| THE: 68

3}HO| =3, 2015-11-23

18.38.3.txt =




Input Specification

Output Specification

NPS.STC.007.000

NPS.STC.007.001

NPS.STC.008.000

NPS.STC.008.001

NPS.STC.009.000

NPS.STC.009.001

EMOHX| = AHEAO|E22

LS —

=8 Y. EM= X

EX

QI & Displayl| ¥ 2}H™

I3 B OAIX| S S

—

OI-

SO[ 5 HAIX| S == etrt.

User Not Found ==

Input File Not Found =&
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Input Specification

Output Specification

NPS.STC.009.002

NPS.STC.009.003

NPS.STC.0010.000

NPS.STC.0010.001

NPS.STC.0010.002

Ol = Display2| state 2™

1M = Displayl| CHZ| X} 2 H.

=™ & Displayl| 2X| 2™

™ = Displayl| ¥ 3 2™

Oft

L7

=7 & Display2| state 2™

Ol M 7F A| ZHE| H waiting Of] A
printing & Ei 2 H 3|5,
I 7t S=E|H CHA|
waiting2 £ H 3},

s

CHZ 1A ==0] 23 E|X| 3.

STO| 2t 25| EX[F0]
i)y

SHO| 22 &[H IO
H o}

SMO| A|EHE|H waiting O] A
charging@ £ AEf H3l =H
S = E|H CEA| waitingR =2
H o},




NPS.STC.000.000 Pass NPS.STC.004.003 Pass
NPS.STC.000.001 Fail NPS.STC.004.004 Pass
NPS.STC.001.000 Pass NPS.STC.005.000 Pass
NPS.STC.002.000 Pass NPS.STC.005.001 Pass
NPS.STC.002.001 Fail NPS.STC.005.002 Pass
NPS.STC.003.000 Pass NPS.STC.005.003 Pass
NPS.STC.003.000 Pass NPS.STC.005.004 Pass
NPS.STC.004.000 Pass NPS.STC.005.005 Pass
NPS.STC.004.001 Pass NPS.STC.006.000 Pass
NPS.STC.004.002 Pass NPS.STC.007.000 Fail




NPS.STC.007.001 Fail
NPS.STC.008.000 Pass
NPS.STC.008.001 Pass
NPS.STC.009.000 Fail
NPS.STC.009.001 Fail
NPS.STC.009.002 Pass
NPS.STC.009.003 Fail
NPS.STC.0010.000 Fail
NPS.STC.0010.001 Fail
NPS.STC.0010.002 Pass




To Test Result




NPS.STC.000.000 Pass NPS.STC.004.003 Pass
NPS.STC.000.001 Pass NPS.STC.004.004 Pass
NPS.STC.001.000 Pass NPS.STC.005.000 Pass
NPS.STC.002.000 Pass NPS.STC.005.001 Pass
NPS.STC.002.001 Pass NPS.STC.005.002 Pass
NPS.STC.003.000 Pass NPS.STC.005.003 Pass
NPS.STC.003.000 Pass NPS.STC.005.004 Pass
NPS.STC.004.000 Pass NPS.STC.005.005 Pass
NPS.STC.004.001 Pass NPS.STC.006.000 Pass
NPS.STC.004.002 Pass NPS.STC.007.000 Pass




NPS.STC.007.001 Pass
NPS.STC.008.000 Pass
NPS.STC.008.001 Pass
NPS.STC.009.000 Pass
NPS.STC.009.001 Pass
NPS.STC.009.002 Pass
NPS.STC.009.003 Pass
NPS.STC.0010.000 Pass
NPS.STC.0010.001 Pass
NPS.STC.0010.002 Pass
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